17. (&)

18. (g)

(@)

19. (&)

(=)

@)
20. (o)

(o)
(@)
21. (g
()
(@)
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QeniGem_iger sustuTsmers srams.
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X 5 10 7T 20 25
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P(X=x) i 2a 3a 4a S5a

0 'a—er wdllienLid smemr.
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P(x) 1/7 2/7 1/7 3/7
X-str aywsrf), UTeUMLIp &T60Ts.
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Y =4x —x? uhgih x-g6Ahe @it uumafmears SIS,
B4 ox-y 2,-y
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& ?j:+ycotx= 2cosx

& (D*—7D+12)y =0, @i y =0, x=0 srarfley g=1_
&if: (D% — 4D 4 13)y = ¢3¢
&7 (D? +9)y = sin 8x.
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October 2018

Time — Three hours
{Maximum Marks: 75)

IN.B:- (1) Answer any FIVE guestions in each of PART-A & PART-B and any two

divisions of each question in PART-C.

(2) Each question carries 2(two) marks in PART-A, 3(three} marks in PART-B and
5{fivel marks for each division in PART-C.
(3) Normal distribution tabte are permitted }

PART - A
1. How many values can a discrete random variable ‘X’ takes?
2. WEW)=3andE (X = 15, find Var (X).
3. What is the mean and variance of the Poisson distribution?
4. If s = 5t* + 6t, find the velocity when ¢ = 3 sec.
5. Find the slope of the tangent to the curve y =ax® at the point
| (1,.=1).
6. Find the volume bounded Dy the curve y? = 4ax between x =0 and
x = 2.
LAy
7. Solve: e ye~*.
8. Solve: (D?-36)y =0.
PART - B
9. In a binomial distribution has 5 trials with mean 3, find 'p’.
10. Write down the mean and standard deviation of the standard
normat distribution.
11. Write down the normal equations to fit a straight line y = mx + c.
12. If s=ae" + be™t, show that the acceleration is always equal to the
distance passed over.
13. Solve: (D? +16)y = 0.
LAy 1
14. Solve: . e
15. Find the integrating factor of %ii FYEOER = ¥,
16. Find the minimum value of y = x% — 10x.
| [Turn over.....
185/1—1



47,

18.

19.

20.

21.

{a)

(b)

{c).

(a)

(c)

(a) |

(b)
{c)
(a)

(b)
(c)
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PART - C

The distance time formula of a moving particle is given by
s = t3—9t? + 24t — 18. Find the velocity when the acceleration
is zero.

Find the equations of the tangent and normal to the curve
y=x*+4x+1at(2,-2).

Find the maximum and minimum values of y = x* — 4x% 4+ 5x — 2
In a Poisson distribution 3P (X =2) = P(X = 4), find P(X = 0).

The mean weight of 500 students in a certain college is 151 kg
and standard deviation is 15 kg. Assuming the weights are

normally distributed, find how many students weigh between

120 kg and 155 kg.
Fit a straight line to the following data:

X 5 10 15 20 25
Y M 23 26 30

A random variable ‘X’ has the following probability distribution.

AR VIS Al S s dhe 3

P{X=x) 2a 3a 4a Sa

(i) Find "2 i) P 0 < 3.

If @ random variable ‘X’ has the following probability
distribution, find mean and variance of X.

X o 0 s | 2
P{x) 1/7 217 1/7 3/7

Four coins are tossed simultaneously. Find the probability of
getting exactly two heads.

Find the area bounded by the curve y = 4x — x*-and the X -axis.
Solve: -g = e* Y ¢ 32V

Solve: z—i +ycotx =2cosx

Solve: (D? — 7D + 12)y = 0. Given y =0, 2 =1 when x = 0.

Solve: (D2 —4D +13)y=e™3*
Solve: (D? + 9)y = sin8x

B

S0P el onb

By : () ued-oi wppid LGS —2), 28y galans LeHlsnhs gtsamn

ong AaTEsEREED, WONL UGH-G—1960 galammn alameledmrs
gGsaid B Masepssw oo weflesan.

2) gaQeurmm alemaw  UEH-o-—als Q@Usm@) UGk sevor seiT,
uGdH-a-also (aparm) wdiCuesmaser wOHMID LGS -F—uleo @mGTmrr@
Sfleud 5gpsl) wHlCerssT GLpio.]

ugd - o

1. ‘—sragd HeellSe Fwamliy Wl FSsmar wEuUSmeT Gumib.
2. E(X)=3 wog EX?) =15 eafld Var (X)-sr nHiou srears.
3. umbsromedr ugsusSlesr gnmafl wHmIh uramLtpulis WL SIS,
4. s =5t%+ 6t seflew, t =3 Gemeullsd SHleng (Esﬁ&.th SIT6HTS .
5. y=ax?® e cusosmeusomuiler  gsrer  (1,—1)  eTem ‘thﬂ.TGIﬂufﬂﬁiJ
QerQCar igsT mie] Sremr.
6. y?=4dax eramm eusmemsusomuilar Semr gemenes X =0 wHOIE X = 2-&@LD
ElsoLGlu srsors.
7. g Z=ye*
8. &n (D2 —~36)y=0
| LigB= 2%
9. & FMHlY ursusdlar uwngl 5 't%.ss&ph, emsfl 3 gean @mEsn Gurys
p'—6r LAWY SIS,
10. &L @msﬁﬁﬂmmfj ursusdlerr emafl whgth Sl alusssdar LSO TYss.
11. y=mx+c sreoim CriCam_iger Ghusoblsns &Lﬁsérurr@aasmsrr SIS,
12. s=aet+be™t sl WYH&ESD ez TUCAUTUSID HLES UBS
Qammauaiiheg swd aar s (Hs.
13. &i (D*+16)y=0.
e éﬂ'ﬁ jt_i = 14—1:‘:2
15. %-{- y cotx = x eteoTm Lostrum lpsr Gamensuii (Bl smyswfl aarrst'r'urasl.
16. y =x* —10x etettn SWSTUM IgslT (SMID WS Smrewr.
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